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Q1

Q2

Q3

Q4

Q5

Q.6

Q7

Solve the integral value 8x3 + 1
A)2xt+x+C
©2xt-x+C

Determine | 7x% — x° + 2xdx.

3 4 2
(A) 7i+x__zi+c
3 5 2

Find the integral of 2 sin2x+3.

(A) sin 2x +3x+C

(C) -cos2x+3x+C

Solve the integral of [3e* + 2, dx.
X

4
A) 3e3x+z—x—+c
x 4

4
©) e* +210gx+XT+c

4x* —3x?

X3

Determine the integral of

(A) 7x2-3logx3 +C
@) x2-logx+C

Evaluate [3cosx + ldx }
X

A) 3SinX—l+C
X

(C) 3sin3x +l+c
X

Solve. J(2+ X)X\/;dX
3 7
4x?  2x?
+—+c
5 9

(&)

5 7
4x2  2x?
+——+¢C
6 7

©

19

(B) 2x6-5x+C
(D) 2x* + x2C

3 4 2
(B) 7%+Xz+zi+c
7 5 4
(D) %—XT+XZ+C

(B) -cos2x-3x3+C
(D) cos2x-3x+12+C

4
(B) 3e* +210gx+XT+c

4
D 3ex—£+x—+c
(D)

x> 4

(B)2x2-3logx+C
(D) 2x2+3logx+C

(B) Zsinx+xl3+c

(D) sinx—%+c

5 7
4x2  2x?
5
5

4x? 2x
+——+c¢
5 7

(B)

[SIRN]

(D) -
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Q8

Q9

Q.10

Q11

Q12

Q.13

Q14

Q15

Q16

Find. [7x® — 4e* —idx
2

9
(A) X _ge e
9 X

9
© et
9 x2

Determine the integral [sin2x +e3x —cos3xdx

sin2x e* sin3x

+
2 3 3

A

cos2x e™ cos3x

+ -
2 3 3
Determine the integral (ax? + b)2.

2abx?

©

2,5
aXx
———+b*x+

A) +c
2,5 3

© b—X+be+ﬂ+c
5 3

Integrate 2sin” X +cos’ X

3x  sin2x

(A) 74— +C

sin 2x

X
C) —+ +C
© 3

Integrate 8tan’ xsec’ x

(A) 2tan* x+C
(C) 2tan’ x+C

Evaluate the integral of
1
A) —7(cotx —tanx)+C

© —%(cotx+tanx)+C

Find j sin®(8x + 5)dx

) X sin(16x +10) LC
4 32
© x _sin(16x +10) +C
2 32
2
Solve ISC()? X dx.
I+sinx

(A) -3(x+cosx)+C
(©) 5(—x+sinx)+C

Solve the integral ofw .
sin”(xe™)
(A) cotxe ™ +C

(€) —cotxe* +C

cos” x —sin” x

7 cos® x sin® X

9
(B) X 2+ lic
9 X

9
@) e d ¢
9 X

cos2x e* sin3x

B) - - +c
(B) 2 3 3
3z
(D) _cost_e__cos3x+C
2 3 3
2,5 3
®B) _ax o +2abx ie
5 3
2,5 3
(D) ax +x+26l +cC
B) 3—X—Sln2X+C
2
) 3_x_25in2x+C
4 2

(B) 4cot’x+C
(D) tan*x+C

1
(B) —7(cotx—2tanx)+C

(D) —%(2cotx+3tanx)+C

X cos(16x +10) LC

B

) 2 32

) X, cos(16x +5) e
2 32

(B) 5(x+cosx)+C
(D) 5(x—cosx)+C

(B) —cotxe™ +C
(D) —cos’ xe ™ +C
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Q17

Q.18

Q.19

Q.20

Q21

Q.22

Q.23

Integrate 2c0s2x

(cosx —sin x)2 ’

(A) —log(1+2sin2x)+C

© —ilog(l +c0s2x)+C

Integrate sin’ (X +2)

3. 1
A) Z(Sln(x+2))+Ecos(3x+6)+C
(B) —%(cos(x+2))—§cos(3x+6)+C
3 1
© —Z(cos(x+2))+Ecos(3x+6)+C

3 1 .
(D) —Z(cos(x+2))+Esm(x+2)+C

Integrate 2xcos(x” +3)
(A) sin(x*+3)+C
(C) cot(x*+3)+C

Find 2sin’ x + 1dx.

@) 2-25% e
26

© —ECOSX—M—X+C
2 6

. 2dx
Find J.XZ—_64 .

x+8 +C

(A) —log

X —

(C) log

X+8 +C
x—8

8dx
x*—-16

Solve j

4+x

(A) log 2 +C

4+x

(C) 8log 2 +C

Determine j 93dx2
+X

(A) tan™ %+ C

(C) tan™' % +C

21

(B) %log (1-sin2x)+C

(D) —log(1-sin2x)+C

(B) sin® (x> +3)+C
(D) —sin(x*+3)+C

cos3x
+x+C

3
B) ——cosx +
(B) 5

(D) —Ecosx+w+c
2 6

3 X+8
B) =lo +C
(B) S logl —2

1 x—8
D) —lo +C
(D) 8 & X+8

4+x

B) —1lo +C
B) gl

44+x
4-x

(D) élog +C

(B) tan™ % +C

(D) tan™ %+ C
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Q24

Q.25

Q.26

Q27

Q.28

Q.29

Q.30

10dx
Nx* =25
(A) —log|x ++/x? —25‘+C

© 1010g‘x+\/x2 —25‘+c

Evaluate j

dx

Solvej -
5-x

(A) sin™' R

NG

(€) —sin" —=+C

NG

Integrate

dx
Vx? +36
x* +/x° +36‘+C
x? +4/x? +6‘+C

(A) —log

(C) —log

dx
x? —8x +20

2
(A) l‘[an’1 X o8 +C
2 2

Solve ‘[

1 _,x-4

C) —tan +C
© 5
Determine ‘[ 2(X +3)
2X°+6x+7

1 3
A) —log(2x* +6x+7)+=
()4 g( ) 4( >

1 3
B) —log(2x* +6x+7)—=
()4 8( ) 4[ >

(C) log(2x* +6x +7) +(tan

(D) —log(2x* +6x + 7)—%(—2 tan

dx
X’ +4

7 x-9
A) —lo
( )6 gx+9

Solve I

+C

X+3
x-3

+C

7
C) ——1lo
© ¢ log

dx
x> +4

Find |
(A) —tan’1%+C

© %tan’l x+C

4 2x+3

(B) log|x ++/x’ —25‘+C
D) lO—log‘x+\/xz —25‘+c

1 X

J5

(D) sin”' §+ C

(B) 2sin” +C

(B) log‘2X+\/X2 +36]+C
X2 +4/x2 +36/+C

(D) log

X4 e

5
B) —tan~
B) 5

1. _,x-4
—

D) x ——tan C
(D) 5

7 x-3
B) —lo +C
( )9 gx+3

7 x-3
D) —lo +C
(D) 6 & X+3

1 X
B) —tan”' =+C
(B) 2 2

3,3
D) —tan~ —+C
(D) 4 2
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Q31

Q.32

Q33

Q.34

Q.35

Q.36

Q37

Q.38

Q.39

Which type of rotational function

A
(x~a)
A+B
(x=b)(x —b)

&)

©

Determine I%dx.

(A) x—5log|x—2|+10log|x—3]|+c
(B) x—3log|x—2|+5log|x—-3|+c
(C) x—10log|x—2|+5log|x—3|+c
(D) x—5log|x—5|+10log|x—10|+c
Solve. j%dx

x+1

(A) log +C
x+2

©) log x+2 +C
x+1

(x—a)(x—b)

,a#b does it signify?

B
(x-b)
A B

+
(x—a) (x=b)

(B)

(D)

(B) log|* L]+
X+2

(D) log x+l +C
X—-2

To transform an improper fraction into a proper fraction, you can

(A) Multiplication

J-<12—x Equal.
x(x° +1)

(A) log|x| —%1og(x2 +)+c

1
(C©) —log| x| +Elog(x2 +1)+c

J‘% Equal.
X2 —

1 xX+3
A) —lo +C
( )6 S

X —

1 X+3
C) —lo +C
( )5 S

X —

Which form does the rotational function

A B
+

A)
(x-a) (x-a)’

A B
© o w-ay

(B) Division

(C) Addition

(B) log|x]| +%10g(x2 +)+c

(D) %log|x|+(x2 +1)+c

1 x—-3
B) —lo +C
( )6 gx+3

1 X+3
D) —lo +C
( )3 S

X —
represent?

A B
+
(x-a)’ (x-a)

A B

(x-a) (x-a)

(B)

(D)

Determine the characteristics or type of the expression (x + 1)

(A) Liner equation
(C) Identity

(B) Cubic Equation
(D) Imaginary

How many values of x satisfy the equation (x + 2) (x + 4) = x* + 6x + 8?

(A) Two value of x
(c) All value of x

(b) One value of x
(d) No value of x

(D) Subtraction
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Q.40

Q41

Q42

Q.43

Q44

Q45

Q46

Q47

Q.48

Q.49

Integrate x2x.
e™ [ 1
A x——[+C
O 2

elx

2

©

2x-1)+C
Determine .[710g Xoxdx .
7
(A) 5(logx— x)+C
T 2
© E(X logx—x)+C
2xdx

Integrate (x> +9)e

2
(A) e—(x2+x—ﬁj+c
2 4

2x
© ¢ (x2+x—ﬁj+c
2 4

Integratej.logxzdx .
(A) logx*+x+C
(C) xlogx*>—1+C

Integrate 2X sin 2X .

sin 2x
2

© %—XCOSZX+C

+xcos2x +C

&)

Integrate 3sec” x log (tan x)dx .
(A) -log (tan x) (tanx -1) +C
(O tanx (log (tanx) -1) + C

Solve IlOlogx —x%dx.

10x*( , x°
A x logx—— |+C
(A) 3 { g 3]

10x*( X’
(S x logx—— [+C
© i [ gx -

Determine J.ZX%-XZ dx.
(A) - (x*+2)+C
(€) 2¢" (x> +1)+C
Integrate 5xsin3x.

A) —%xcosSx+§tan3x+C

© xcosSx+§sin3x+C

Find _[sinxlog(cos x)dx.
(A) cosx(log(sinx)—1)+C
(C) cosx(log(cosx)+1)+C

24

er

4

er

4

(B)

2x-1)+C

(D)

(x+)+C

(B) —%(x2 logx—x*)+C

(D) (x’logx+x)+C

(B) 2xlogx’—2x+C
(D) xlogx*+x+C

sin 2x
2

D) %—XCOS2X+C

—cos2x+C

(B)

(B) log (tan x) (secx+1) +C
(D) tanx (log (secx) + 1) + C

10x° x°
B logx—— |+C
(B) 3 { g 3]

3
m)[ﬁkgx—%J+C

(B) ¢ (x*-1+C
(D) e* x-D+C

B) %XCOS3X—%taﬂ3X+C

(D) —%xcos3x +§sin3x +C

(B) sinx (log(cosx)+1)+C
(D) cosx(log(cosx)—-1)+C
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Q.50 The value off SX Ldx equals
(A)2x5/2 + 2x 3/2 —2x% 4 ¢ (B) 2x%/2 — 2x3/2 4 2x1/2 4 ¢
(C)§x5/2—§x3/2+c (D) Zx5/2 4 10x3/2+2x1/2+c
slogx_ ,3logx
Q.51 The value of [ %dx equals
2
A)x+c (B) "7 +c
3
(C)X?+c (D) logx+c
Q.52 The value of [ tan? xdx equals

Q.53

Q.54

Q.55

Q.56

Q.57

Q.58

Q.59

Q.60

(A)tanx+x+c
(@ cotx+x+c

The value of [ m equals
(A) —(tanx + cotx) + ¢

(O tanx —cotx + ¢

sin® x+cos® x
The value of [ e T—" dx equals
(A) —(tanx + cotx) + ¢
(C) —tanx + cotx+c

COS X—COS 2X

The value of [

(A)x+251nx+c
(C) —x+ 2cosx+c

o dx equals

3
The value of [ =— dx equals
X+2
3
(A)X?+x2 +4x —8log|x+ 2| +¢

3
(C)X?+x2—4x—810g|x+2|+c

SN _

If [ o7 sdx = alog(

25

5 1
©z3

dx .

The value of [ m is equal to

2(\/_+1)
A=
( )_2(\/- 1)
The value of [ —X) is equal to
@) - 2log = + ¢
(C) —nlog |m| +c

xdx

The value of [ v equals

A 2vx+1—-tantVx+1+c
(©2vVx+1—4tan Vx+1+c

(B)tanx—x+¢c
(D) —tanx+x+c

(B) tanx + cotx +c
(D) cotx —tanx+ ¢

(B) tanx + cotx + ¢

(D)tanx —cotx—3x+c

(B)x—2sinx+c
(D)x —2cosx+c

3
(B)X?—x2+4x—810g|x+2|+c

3
(D)X?+x2+4x+810g|x+2|+c

) + ¢, thenaand k are

®)53
ORF

2«/— 1

D) 2(\/'+1)

(B)nlog |Xn—+1| +c
1
(D) ;lo

xT+1

|+c

(B)2vx+1—2tan'Vx+1+¢c
(D) 2vx+1+2tantvVx+1+c

25
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Q.61

Q.62

Q.63

Q.64

Q.65

Q.66

Q.67

Q.68

Q.69

Q.70

X

The value of [ mdx equals
(A) %10g(x2 +Vxt+x2+ 1) +c
(©) log((x? + ) + VX + X + 1) +¢

dx

(B) Zlog((x +2) + VX" + X2 + 1) +¢
(D) zlog((x2 + ) + VX +x2 + 1) + ¢

The value of [ ooy equals
1 — x2 X
A)xvl—-x2+c (B)2m+c
2
©=+c (D) —+c
The value of [ ZCO— dx equals
Vsin“x-2si x-3
(A) log|(sinx — 1) + Vsin2x — 2sinx — 3| + ¢
(B) log|(sinx — 1) — v/sin?x — 2sinx — 3| + ¢
(C©) log |(sinx+ 1) + Vsin2x + 2sinx — 3| + ¢
(D) |log [(sinx — 2) | +c
The value of [ —22> X gy is equal to
(2+3co x)
sinx 2sinx
(A) 2+3cosx tc (B) 24+3co x +c
3cosx 3sinx
(C) 2+cosx tc (D) 2+sinx tc
If [ ﬁdx = Avcotx + B, then A is equal to
A1 (B) 2
©-1 (D) -2
[ (xel°8sin* — cos x)dx is equal to

(A) xcosx + ¢
(C) —el°8% . cosx + ¢
2+3sin 2x

The value of [ e3* (

(A) e¥ - cotx +c
(©)e** -sinx+c

) dx equals

1+cos 2x

1.
~—sin? x

2

If the derivative of f(x) w.r.t. x is =

(B) sinx —xcosx + ¢
(D) sinx+e*+c¢

(B) ¥ -tanx+c
(D) e** - cosx + ¢

then f(x) is a periodic function with fundamental period

(A)m
T
©5
The value of [ %de equals

(A) sin~!(sin® + cos 0) + ¢
(C) log(sin® + +sin® + cos B) + ¢

The value of [ sec* x - tan xdx equals

(A)tanx + tan®x + ¢ (B)

tan? x
©

tan® x

+ +c

tan? x

(B) 2m
OEs

(B) sin™!(sin® — cos 0) + ¢
(D) Vsin26 + ¢

tan* x

+—+c
4
tan3 x
3

(D) tanx + +c

26



CLASS-12

JEE - MATHS

Q.71 The value of [ Ssiin%dx equals
V3+ta x

1 .=
(A)Z—sm '3 —tanx) + ¢ (B) — 5 (f )
V3+tan x V3+tanx
(C) 23 (\/_ tanx) te (D) 43 (\/_ tanx) tc
Q.72 The value of [ m equals
1 X .
A) Elog |tan(5 E)l +c (B) Elog |tan(§ + Z)I +c
(©) ;logltanG+3)| +c (D) log |tanx| + ¢
sin 2x .
Q.73 The value of [ mdx is equal to
(A) cot™!(tan?x) + ¢ (B) tan~!(tan? x) + ¢
(C) cot™(cot?x) + ¢ (D) tan"(cot?x) + ¢

Q74 If [ V1 +sinxf(x)dx = %(1 + sinx)3/2 + ¢, then f(x) equals

(A) cosx (B) sinx
(C) tanx (D)1
log(tanx)
Q.75 The value of [ pm—— dx equals
(A) Elog(tan X)+c¢ (B) %log(tan2 X)+c
© % (log(tanx))? + ¢ (D) cos2x + ¢

Q.76 The value of [ sin? xdx equals

3 sin 4x sin 2x 3 sin4x sin 2x

A)=x+—+——+cC B)=x————-——+c
8 32 4 8 32 4
(C) -3 sm x sin 2x +c (D) 3 sm X sin 2x +c
32 4 4
Q.77 The value of [ sin®x - cos® xdx equals
(A) sin*x  2sin®x " sin® x Y (B) sin* L 2sin®x " sin®x e
4 6 8 6
© SiTX n Zsiz6 sin® x e D) su:3 X e

A e value o sinx)~ - (cosx)™ X equals
78 The value of [ (si 173 /34 1
@) 2 (cot?/3 %) +2 (cot®P x) + ¢ ® -

| w

(cotg x) + g(cotg x)} +c
(cotz x) + %(cotg X)} +c

wiNn N

©) % (cot*/3x) + S(COtS/S X)+c (D) - {

dx
Q79 J‘seczxtanzx_
(A)§x+tanx (B)§x+tanx
C —x+cotx+SmZX +c D Zx—tanx—m+c
( 3 4

Q80 If [ —~X ___dx = Psin'/*x + Qsin'/® x + Rsin'/12 x — 12log(1 + sin'/2x) + ¢

sin2/3 x+sin3/4

then the value of P + Q + R

(A) 10 (B) 12
©6 (D)8
Q81 Iff (XJ:/:_X;))IS dx = & :rxz)n + ¢, then the value of n is
X
(A) 14 (B) 15
(©) 16 (D) 17

27
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tn
Q82 Ifl,=[ . dtthen

tn

(A) Inyz = . nl,
-1

O Ly = 1 Iy

Q83 [tan®0de =
(A) %tan4 0— %tan2 0+ log |secB| + C

(B) itan4 0 +%tan2 0 + log |sec 6| + ¢
© itan4 ] —%tan2 0 —log|secB| + ¢

(D) %tan4 0+ %tan2 0 —log |secB| + ¢

sin nx

Q84 Ifl, = [ —
(A) ﬁcos(n - Dx

© %cos nx

Q.85 J-( secx

secx—tanx
(A)secx —tanx + ¢

(C) log|secx —tanx| + ¢

) dx equals

Q.86 If [ sin 3xcos 5xdx = 0 whenx = 0,
1
@A)
3
©
dx
Q87 f x(1+(logx)?2)
(A) log(tan™'x) + ¢
(C) tan~(log(tan™ ' x)) + ¢

equals

th+1

B) L1 = ey +1,
n+1
D) Lhyz = ol Iy

dx, for n > 1, then the value of [, — I,_, is

(B) ﬁsin(n - 1x

(D) %sin nx

(B) log |secx +tanx| + ¢
(D)secx+tanx+c

(B) — =
(D) —=

(B) log(tan™* x) + tan~*(logx) + ¢
(D) tan~1(logx) + ¢

Q88 If [ e dx = f(x) + ¢, then f(x) may be equal to

eX+1
(A) 2log |e* + 1]
(©) 2log(e* +1) —x

Q.89 [ cos+vxdxequals
(A) 2[Vxsinv/x + cosvx] + ¢
(C) 2[cosvx — +/xsinv/x] + ¢
Q90 | (X+);+1/3dx is equal to
3L _1y43
@A ZE-"D"+c
1 1 4/3
(C) g (1 + X—z) +c
Q91 | @dx equals
(A) 3 (In6x2)* + ¢
(€)  (In(6x2)) + ¢

(B) log |e?* — 1|
(D) log(e* + 1)

(B) 2[vxsinvx — cos vX] + ¢
(D) —2[v/xsinvVx + cosVx] + ¢

(B) —g[(1 + Xiz)g] +c
OHES 1)4/3 +c

X

(B) ; (In(6x%))? + ¢
(D) = (In(6x%)) + ¢

28
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Q92

Q.93

Q.94

Q95

Q.96

Q97

Q.98

Q.99

Q.100

f xsinxzesecxzd
X —
cos? x2

A) %esecxz +c

© %sin X2 . 08" ¥ | ¢

(B) %esm 4 c

(D) %ec"s 4 e

[ ———isequalto
cosX+sinx

1 X T 1 X T X T
(A) \/—Elog tan(z + E) +c (B) ﬁlog[cosec(z + E) + cot(; + g)] +c

1 X s X T 1 X . X T
- \/—Elog[cosec(g + E) - cot(; + g)] +c(D) - \/—Elog[cosec(z - E) + cot(; - g)] +c

f x?+1

(x—1)2(x+3)

x—1 l 1
(A e +4 P

(© Zlog|x— 1] —

dx equals
11
2 (x—1)

+tan"1(x +3) + logx + ¢

1,1
2 (x-1)

(B)Zlog[x — 1| - +c

+§log|x+3|+c (D)%tan_l(x+1)+log|x+3|+c

[ f(x)dx = 2(f(x))? + ¢, and f(0) = 0 then f(x) is

OF ® ;

©zf; O

/ /1 + 2cotx(cot x + cosec x)dx equals
(A) 2In cos§ +c

(B) 2In sin§ +c

(C);lncosg-kc (D)%lnsin§+c

[ e3*sin 2xdx equals
3X 3x
(A) 61—3 (3cos 2x + 2sin2x) + ¢ (B) e1—3 (3sin 2x — 2cos 2x) + ¢

3x 3x
© e1—3 (—3sin 2x — 2cos 2x) + ¢ (D) e1—3 (3sin 2x + 2cos 2x) + ¢

[ (1 = x*)logxdx equals

3 3
(&) (x=Plogx— (x =) +c¢
3 3
(€©) (x+logx + (x+7) + ¢
tan~!x—cot™1x
f m dx equals

(A) %tan‘lx + iln(l +x3)—x+c

(©) Ztan T x +2In(1 +x2) +x+ ¢

[ secx?dx equals to
(A) log |secx? + tanx?| + ¢

180 T X
© Tlog |tan(z + §)| +c

(B) (x—Dlogx + (x =) +¢

(D) xlogx + ¢

(B) %tan‘lx —%ln(l +x)+x+c

(D) Ztan~x —2In(1 +x2) —x+¢

T TC X.
(B) Elog |tan(z + E)l +c

180 a1 X
(D) Tlog |tan(z + %ﬂ +c
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Q1
Q.2

Q3
Q4
Q5
Q6
Q7
Q8

Q9
Q.10

Q11

Q.12
Q13

Q.14

Q15

Q16
Q17
Q18

Q.19
Q.20

Q21

Q.22

Q23
Q24
Q25
Q26

Evaluate [ e3°8%(x*)dx.

Evaluate [ cos? xdx.
tanx-sec?x

1-tan?x

Evaluate [

Evaluate [ sin 7x - sin xdx.

Evaluate [ log(2 + x?)dx.

2x+1

Evaluate [ mdx.

Evaluate [

50+2x2

Evaluatef ﬁ

Evaluate [ xvx* — 1dx.

sin 2x

Evaluate [ md}(

2x-1

Evaluatef mdx
L. sin% x
Evaluate following integral, [ mdx.
1

Find the following integral [ P yer—p 4

Integrate the following integral [ L =dx
X

V2ax

4x+1
Illustrate above process by evaluate the integral, | ———dx.
p y & f VxZ+3x+2
x%+1
Evaluate [ R
Evaluate | —=—>

(x+1)2(x+3) x
x
(x2+1)(x-1) dx

Evaluate the integral, [ Vx2 + 2x + 6dx.

Integrate following w.r.t. x, sin® xcos* xdx.

Evaluate [

R 5si
Evaluate the following integral [ %

3 5
Integrate the following integral [ A

'sinZ x+sin® x

Evaluate the following integral: [ (x + Va2 + x2)2%97dx
Evaluate [ sin® xdx

Evaluate [ cos xlog(sin? x + 5sin x + 6)dx

Evaluate [ cos xcos 2xcos 3xdx
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ANSWER KEY - LEVEL -1
Q 1 Z 3 4 5 6 7 8 9 10
Ans. A D C B B A C A B A
Q. 11 12 13 14 15 16 17 18 19 20
Ans. B A C C B B D C A B
Q. 21 22 23 24 25 26 27 28 29 30
Ans. D A B C A D C A D B
Q. 31 32 33 34 35 36 37 38 39 40
Ans. D A A B A B A C C B
Q 41 42 43 44 45 46 47 48 49 50
Ans. C B B D C A B D C A
Q. 51 52 53 54 55 56 57 58 59 60
Ans. B B C D A B A B A C
Q 61 62 63 64 65 66 67 68 69 70
Ans. B C A A D C B A B B
Q. 71 72 73 74 75 76 77 78 79 80
Ans. B A B A C D A B C A
Q. 81 82 83 84 85 86 87 88 89 90
Ans. B D A B D D D C A B
Q. 91 92 93 94 95 96 97 98 99 100
Ans. B A A C B B B A D D
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